
UNITED BRASS WORKS, INC. 
 

 
 

LIST PRICE SHEET 
 

 
 

INDUSTRIAL VALVES 
 

Effective Date: June 18th 2007 

Freight allowed on shipments of 750 lbs. or more 

 
 

HOME OFFICE & FACTORY REGIONAL SERVICE CENTER 
 
714 South Main Street 212 Mercury Circle 
Randleman, NC 27317 Pomona, CA 91768 
Phone : (336) 498-2661 Phone: (909) 595-5959 
Watts No.: (800) 334-3035 Watts No.: (800) 423-7353 
Fax: (800) 498-4696 Fax: (909) 595-5671 
e-mail: sales @ ubw.com 
web: www.ubw.com 



DESCRIPTION DESCRIPTION

24T   1 1/2 TEFLON DISC 18.30
14 3/8GATE VALVE 13.40 24T 2 TEFLON DISC 23.64
14 1/2GATE VALVE 13.40 25 WACT 1/4 WHISTLE VAL W/SS 50.54
14 3/4GATE VALVE 16.96 25WACT3/8 WHISTLE VAL W/24T 58.10
14 1  GATE VALVE 22.60 25WACT1/2 WHISTLE VAL/24T 68.70
14    1 1/4 GATE VALVE 31.06 25WACT 3/4 WHISTLE VAL/LEVER 115.80
14 1 1/2 GATE VALVE 42.88 25WLLT 1/4 LOOP LEV WH VALVE 70.76
14 2  GATE VALVE 64.74 25WLLT3/8 LOOP LEV WH VAL W/ 73.00
15 1/4GATE VALVE 38.52 25WLLT1/2 WH VAL W/TEF DISC/ 85.36
15 3/8 GATE VALVE 38.52 25WT 1/4 WHISTLE VALVE 69.62
15 1/2GATE VALVE 38.52 25WT 3/8 WHISTLE VALVE 75.28
15 3/4GATE VALVE 42.94 25WT 1/2 WHISTLE VALVE 86.90
15 1  GATE VALVE 60.44 VC25WT 1/2 CYLINDER WHISTLE 249.58
15    1 1/4 GATE VALVE 81.26 VC25WTRK 1/2" REPAIR KIT 55.66
15    1 1/2 GATE VALVE 99.32 25WT 3/4 WHISTLE VALVE 136.30
15 2  GATE VALVE 148.50 25WT 1" WHISTLE VALVE 203.46
15    2 1/2 GATE VALVE 414.38 35VNC 1" NOR.CLOS.CYL.GLOBE 141.00
16 3/8 GATE VALVE COPPER TO 35.08 35VNO 1"NOR.OPN CYL.GLOBE VA 141.00
16 1/2 GATE VALVE COPPER TO 35.08 35VNC 1 1/2 NOR.CLS.CYL.GLOB 177.62
16 3/4 GATE VALVE COPPER TO 41.20 35VNO 1 1/2 NOR.OPN.CYL.GLB. 177.62
16 1 GATE VALVE COPPER TO CO 60.28 35VNC 2" NOR.CLOS.GLOBE VAL 280.72
16 1 1/4 GATE VALVE COPPER T 85.44 35VNO 2" NOR.OPN.CYL.GLOB.VA 280.72
16 1 1/2 GATE VALVE COPPER T 104.26 36VNC 1" NOR.CLO.CYL.ANG.VAL 141.00
16 2 GATE VALVE COPPER TO CO 143.76 36VNC 1 1/4" NOR.CLOSED ANG. 156.84
17 1/2 RS GATE VALVE 52.30 36VNO 1 1/4" NOR. OPEN ANG. 156.84
17 3/4 RS GATE VALVE 63.06 36VNC 1 1/2 NOR.CL.CYL.ANG.V 177.62
17 1 RS GATE VALVE 81.20 36VNO 1 1/2 NOR.OP.CYL.ANG.V 177.62
17 1 1/4 RS GATE VALVE 110.00 36VNO 2" NOR.OPEN CYL.ANG.VA 280.72
17 1 1/2 RS GATE VALVE 136.26 44 1/4 STEAM VALVE L/YOKE/LE 44.40
17 2 RS GATE VALVE 186.74 44SS 1/4 VALVE W/YOKE AND LE 58.40
19 1/2 BOILER DRAIN 10.44 44NY 1/4 STEAM VALVE 58.40
19 3/4 BOILER DRAIN 11.50 44NYLL 1/4 STEAM VAL.L/LEVER 44.72
20TW 1" GATE VALVE 375.22 50 1/4 SPRING CHECK VALVE W/ 33.84
20TWNO 1" GATE VALVE NORM.OP 254.60 50 3/8 SPRING CHECK VALVE W/ 48.60
20TWNC 1" GATE VALVE NORM.CL 254.60 50 1/2 SPRING CHECK VALVE W/ 48.60
20TW 1 1/2 GATE VALVE 426.00 50 3/4 SPRING CHECK VALVE W/ 58.88
20TWNO 1 1/2 GATE VAL.NORM.O 318.26 50 1 SPRING CHECK VALVE W/RU 75.94
20TWNC 1 1/2 GATE VAL.NORM.C 318.26 50 1 1/4 SPRING CHECK VALVE 114.14
20TW 2" GATE VALVE 498.74 50 1 1/2 SPRING CHECK VALVE 175.20
20TWNO 2" GATE VALVE NORM.OP 399.98 50 2 SPRING CHECK VALVE W/RU 262.80
20TWNC 2" GATE VALVE NORM.CL 399.98 50LS 1/4 SPRING CHECK VALVE 33.84
24S1/4SOFT DISC 1.50 50LS 3/8 SPRING CHECK VALVE 48.60
24S3/8SOFT DISC 3.02 50LS 1/2 SPRING CHECK VALVE 48.60
24S1/2SOFT DISC 1.84 50LS 3/4 SPRING CHECK VALVE 58.88
24S3/4SOFT DISC 2.64 50LS 1 SPRING CHECK VALVE LE 75.94
24S 1 SOFT DISC 3.76 50LS 1 1/4 SPRING CHECK VALV 114.14
24S   1 1/4 SOFT DISC 5.72 50LS 1 1/2 SPRING CHECK VALV 175.20
24S   1 1/2 SOFT DISC 7.64 50LS 2 SPRING CHECK VALVE LE 262.80
24S 2 SOFT DISC 11.76 50T 1/4 SPRING CHECK VALVE W 35.44
24T1/4TEFLON DISC 2.18 50T 3/8 SPRING CHECK VALVE W 48.60
24T3/8TEFLON DISC 2.86 50T 1/2 SPRING CHECK VALVE W 49.88
24T1/2TEFLON DISC 3.42 50T 3/4 SPRING CHECK VALVE W 61.36
24T3/4TEFLON DISC 5.20 50T 1 SPRING CHECK VALVE W/T 93.42
24T 1 TEFLON DISC 5.64 50T 1 1/4 SPRING CHECK VALVE 118.16
24T   1 1/4 TEFLON DISC 14.66 50T 1 1/2 SPRING CHECK VALVE 186.84

Page 1



DESCRIPTION DESCRIPTION

50T 2 SPRING CHECK VALVE W/T 274.50 62V 1/4, 3/8 OR 1/2 DISC 2.88
50TLS 1/4 SPRING CHECK VALVE 35.44 62V   3/4 DISC 4.44
50TLS 3/8 SPRING CHECL VALVE 48.60 62V   2 DISC 19.12
50TLS 1/2 SPRING CHECK VALVE 49.88 63 1/2" CHECK VALVE 73.96
50TLS 3/4 SPRING CHECK VALVE 61.36 63 3/4" SWING CHECK VALVE 105.30
50TLS 1 SPRING CHECK VALVE L 93.42 63 1" CHECK VALVE 139.84
50TLS 1 1/4 SPRING CHECK VAL 118.16 63 1 1/4" CHECK VALVE 224.32
50TLS 1 1/2 SPRING CHECK VAL 186.84 63 1 1/2" CHECK VALVE 231.98
50TLS 2 SPRING CHECK VALVE L 274.50 63 2" CHECK VALVE 283.32
50TG 1/4 TFE DISC GROUND 2.42 63 3" CHECK VALVE 828.24
50TG 3/8 TFE DISC GROUND 3.78 70H 3/4 SURE SITE FLOW INDIC 79.10
50TG 1/2 TFE DISC GROUND 3.98 70H 1 SURE SITE FLOW INDICAT 81.18
50TG 3/4 TFE DISC GROUND 5.48 70H 1 1/4 SURE SITE FLOW IND 98.86
50TG 1 TFE DISC GROUND 6.38 70H 1 1/2 SURE SITE FLOW IND 204.78
50TG 1 1/4 TFE DISC GROUND 15.18 70H 2 SURE SITE FLOW INDICAT 240.24
50TG 1 1/2 TFE GROUND DISC 19.72 70H 2 1/2 SURE SITE FLOW IND 419.12
50TG 2 TFE DISC GROUND 24.36 70BSP 3/4 SURE SIGHT IND. W/ 96.50
53 1/4 FULL FLOW SPRING CHEC 41.48 70BSP 1 SURE SITE INDIC. W/B 96.56
53 3/8 FULL FLOW SPRING CHEC 49.84 70BSP 1 1/4 SURE SITE INDIC. 104.60
53 1/2 FULL FLOW SPRING CHEC 58.90 70BSP 1 1/2 S.S.IND W/BALL/S 209.86
53 3/4 FULL FLOW SPRING CHEC 77.58 70BSP 2 SURE SITE INDIC. W/B 245.38
53 1 FULL FLOW SPRING CHECK 112.08 70BSP 2 1/2 SURE SITE INDIC. 429.40
53 1 1/4 FULL FLOW SPRING CH 154.56 70HB 3/4 SURE SITE INDIC. W/ 102.62
53 1 1/2 FULL FLOW SPRING CH 213.26 70HB 1 SURE SITE INDIC. W/AC 102.78
53 2 FULL FLOW SPRING CHECK 321.50 70HB 1 1/4 SURE SITE INDIC. 110.28
55S 1/4 LIGHT SPRING CHK VAL 23.56 70HB 1 1/2 SURE SITE INDIC. 222.90
62 1/4 SWING CHECK VALVE W/M 33.06 70HB 2 SURE SITE INDIC. W/AC 258.40
62 3/8 SWING CHECK VALVE W/M 33.06 70P 3/4 SURE SITE HIGH PRESS 80.96
62 1/2 SWING CHECK VALVE W/M 33.06 70P 1 SURE SITE HIGH PRESSUR 75.44
62 3/4 SWING CHECK VALVE W/M 43.70 70P 1 1/4 SURE SITE HIGH PRE 91.96
62 1 SWING CHECK VALVE W/MET 68.78 70P 1 1/2 SURE SITE HIGH PRE 177.06
62 1 1/4" SWING CHECK VALVE 144.30 70P 2 SURE SITE HIGH PRESSUR 207.82
62 1 1/2" SWING CHECK VALVE 168.66 70P 2 1/2 SURE SITE HIGH PRE 389.54
62 2" SWING CHK. VALVE 246.00 70TT 3/4 S.S. IND. W/T.GL/TE 114.24
62 3" CHECK VALVE 604.84 70TTSL 1 1/4"SS IND W/TEMP S 123.60
62S 1/4 SWING CHECK VALVE W/ 38.44 70TTSLB 3/4 S.S.IND W/TEMP S 120.72
62S 3/8 SWING CHECK VALVE W/ 38.44 70TTSLB 1"S.S.IN W/TEMP SL G 120.80
62S 1/2 SWING CHECK VALVE W/ 38.44 70TTSLB 1 1/4" SS IND W/BALL 128.16
62S 3/4 SWING CHECK VALVE W/ 44.48 70TTSLB 1 1/2 S.S.IN W/TEMP 251.82
62S 1 SWING CHECK VALVE W/RU 67.06 76P 1/4" 3-WAY VALVE W/PACKI 17.36
62S 1 1/4" SWING CHECK VALVE 150.88 77 1/8ANGLE NEEDLE VALVE 30.70
62S 1 1/2" SWING CHK. VALVE 173.86 77    1/4 ANGLE NEEDLE VALVE 30.70
62S 2" SWING CHK. VALVE 271.64 77 3/8ANGLE NEEDLE VALVE 34.26
62T 1/4 SWING CHECK VALVE W/ 44.24 77 1/2 ANGLE NEEDLE VALVE 41.94
62T 3/8 SWING CHECK VALVE W/ 44.24 77 3/4 ANGLE NEEDLE VALVE 51.34
62T 1/2 SWING CHECK VALVE W/ 44.24 78 3/8 HEAVY DUTY NEEDLE VAL 42.14
62T 3/4 SWING CHECK VALVE W/ 57.44 79 1/8 NEEDLE VALVE 25.34
62T 1 SWING CHECK VALVE W/TE 85.54 79 1/4NEEDLE VALVE 25.34
62T 1 1/4" SWG.CHK.VAL. TEFL 156.72 79 3/8NEEDLE VALVE 29.66
62T 1 1/2" SWING CHK. VALVE 179.66 79    1/2 NEEDLE VALVE 35.94
62T 2" SWING CHK. VALVE 271.64 79    3/4 NEEDLE VALVE 47.50
62TV  1/4 TEFLON DISC 1.84 80 1/4 BALL VALVE 24.02
62TV  3/4 TEFLON DISC 4.56 80 3/8 BALL VALVE 24.02
62TV  1 1/4 TEFLON DISC 12.18 80 1/2 BALL VALVE 24.02
62TV 2 TEFLON DISC 20.84 80 3/4 BALL VALVE 36.02

Page 2



DESCRIPTION DESCRIPTION

80 1 BALL VALVE 46.18 99T   3/8 SWING CHECK W/99TD 31.78
80 1 1/4 BALL VALVE 75.16 99T   1/2 SWING CHECK W/99TD 34.56
80 1 1/2 BALL VALVE 95.24 99T   3/4 SWING CHECK W/62TV 37.72
80 2 BALL VALVE 124.94 99T   1 SWING CHECK W/99TD 51.50
80 MXF 1/4 BALL VAL MALE X F 25.78 99T   1 1/4 SWING CK W/99TD 66.62
80 MXF 3/8 BALL VAL MALE X F 25.78 99T   1 1/2 SWING CK W/99TD 87.76
80 MXF 1/2 BALL VAL MALE X F 25.78 99T   2 SWING CHECK W/99TD 117.06
80 MXF 3/4 BALL VAL MALE X F 39.62 99SD  1/4 DISC 1.08
80 MXF 1 BALL VAL MALE X FEM 50.66 99SD  1/2 DISC 1.16
80 MXF 1 1/4 BALL VAL MALE X 82.56 99SD  1 DISC 3.30
80 MXF 1 1/2 BALL VAL MALE X 106.78 99SD  1 1/4 DISC 5.10
80 MXF 2 BALL VAL MALE X FEM 137.50 99SD  1 1/2 DISC 6.80
80MXFSS 1/2 B.VAL.MXF W/S.S. 37.32 99SD  2 DISC 10.28
80MXFSS 1 B.VAL.MXF W/S.S. B 78.40 99TD  1/4 TEFLON DISC 1.98
80SW 3/8 BALL VALVE SOLDERED 24.02 99TD  1/2 TEFLON DISC 2.64
80 SW 1/2 BALL VALVE SOLDERE 24.02 99TD  1 TEFLON DISC 7.84
80 SW 3/4 BALL VALVE SOLDERE 36.02 99TD  1 1/4 TEFLON DISC 12.96
80 SW 1 BALL VALVE SOLDERED 46.18 99TD  1 1/2 TEFLON DISC 14.12
80SW 11/4 BALL VALVE SOLDERE 75.16 99TD  2 TEFLON DISC 20.80
80SW 11/2 BALL VALVE SOLDERE 95.24 125S  1/4 GLOBE VALVE W/125S 15.76
80SW 2 BALL VALVE SOLDERED 124.94 125S  3/8 GLOBE VALVE W/125S 20.10
80SS 1/4 BALL VALVE W/S.S. B 35.28 125SUL 1/2" GLOBE VALVE 20.22
80SS 3/8 BALL VAL. W/S.S. BA 35.28 125SUL 3/4" GLOBE VALVE 24.96
80SS 1/2 BALL VALVE W/S.S. B 35.28 125SUL 1" GLOBE VALVE 33.56
80SS 3/4 BALL VALVE W/S.S. B 49.98 125SUL 1 1/4" GLOBE VALVE 55.30
80SS 1 BALL VALVE W/S.S. BAL 68.62 125SUL 1 1/2" GLOBE VALVE 78.00
80SS 1 1/4 BALL VALVE W/S.S. 117.22 125SUL 2" GLOBE VALVE 113.24
80SS 1 1/2 BALL VALVE W/SS B 187.76 125T  1/4 GLOBE VALVE W/125T 22.44
80SS 2 BALL VALVE W/S.S. BAL 228.40 125T  3/8 GLOBE VALVE W/125T 26.62
81T1/8GLOBE VAL W/TEFLON DIS 45.34 125T  1/2 GLOBE VALVE W/125T 26.62
81T1/4GLOBE VALVE W/TEF DISC 46.70 125T  3/4 GLOBE VALVE W/125T 33.04
81T3/8GLOBE VAL W/TEFLON DIS 57.90 125T  1 GLOBE VALVE W/125TD 48.18
81T1/2GLOBE VALVE W/TEFLON 65.16 125T  1 1/4 GLOBE VAL W/125T 73.16
81T3/4GLOBE VALVE W/TEFLON 77.76 125T  1 1/2 GLOBE VAL W/125T 107.48
81T1  GLOBE VALVE W/TEFLON 107.58 125T  2 GLOBE VALVE W/125TD 140.18
81T   1 1/4 GL VAL 24T 166.66 125MM 1/4MM GLOBE VALVE 20.30
81T   1 1/2 GL VAL 24T 242.24 125MM 3/8MM GLOBE VALVE 30.40
81T2  GLOBE VALVE W/TEF DISC 324.36 125MM 1/2 MM GLOBE VALVE 30.40
99 1/4 SWING CHECK VALVE 25.58 125MM 3/4MM GLOBE VALVE 32.94
99    3/8 SWING CHECK VALVE 25.58 125MM 1 MM GLOBE VALVE 43.82
99    1/2 SWING CHECK VALVE 25.58 125MM 1 1/4MM GLOBE VALVE 76.76
99    3/4 SWING CHECK VALVE 29.42 125MM 1 1/2MM GLOBE VALVE 109.66
99    1 SWING CHECK VALVE 40.26 125MM 2MM GLOBE VALVE 129.00
99    1 1/4 SWING CHECK VALV 57.06 125SD 1/4 DISC 1.16
99    1 1/2 SWING CHECK VALV 75.52 125SD 3/8 DISC 1.16
99    2 SWING CHECK VALVE 97.90 125SD 3/4 DISC 2.28
99S   1/4 SWING CHECK W/99SD 22.32 125SD 1 1/4 DISC 6.38
99S   3/8 SWING CHECK W/99SD 22.32 125SD 1 1/2 DISC 7.08
99S   1/2 SWING CHECK W/99SD 22.32 125SD 2 DISC 10.88
99S   3/4 SWING CHECK W/99SD 25.60 125TD 1/4 DISC 2.00
99S   1 SWING CHECK W/99SD 35.60 125TD 3/8 DISC 2.70
99S   1 1/4 SWING CHECK/99SD 51.26 125TD 1/2 DISC 2.70
99S   1 1/2 SWING CHECK/99SD 73.38 125TD 3/4 DISC 4.86
99S   2 SWING CHECK W/99SD 86.52 125TD 1 DISC 8.30
99T   1/4 SWING CHECK W/99TD 31.78 125TD 1 1/4 DISC 14.08

Page 3



DESCRIPTION DESCRIPTION

125TD 1 1/2 DISC 15.06 200BV 3/8 50 MESH STNR W/3/8 46.42
125TD 2 DISC 22.40 200BV 3/8 100 MSH. STNR.W/3/ 46.42
126S  1/4 ANGLE VALVE W/125S 15.98 200BV 1/2 24 MESH STRAINER W 46.70
126S  3/8 ANGLE VALVE W/125S 20.84 200BV 1/2 50 MSH.STNR.W/BALL 46.70
126SUL 1/2" ANGLE VALVE 20.88 200BV 1/2-100 MESH STNR.W/B. 46.70
126SUL 3/4" ANGLE VALVE 24.12 200BV 3/4 24 MESH STRAINER W 61.00
126SUL 1" ANGLE VALVE 36.00 200BV 3/4 50 MESH STNR.W/3/8 61.00
126SUL 1 1/4" ANGLE VALVE 58.64 200BV 3/4 100 MSH.STNR.W/BAL 61.00
126SUL 1 1/2 ANGLE VALVE 78.84 200BV 1 24 MESH STRAINER W/B 102.40
126SUL 2" ANGLE VALVE 95.54 200BV 1 50 MESH STNR W/3/4 B 102.40
126T  1/4 ANGLE VALVE W/125T 22.92 200BV 1 100 MSH.STNR.W/BALL 102.40
126T  3/8 ANGLE VALVE W/125T 27.96 200BV 1 1/4 24 MESH STRAINER 141.06
126T 1/2 ANGLE VALVE W/125T 27.96 200BV 1 1/4 50 STNR W/3/4 BA 141.06
126T 3/4 ANGLE VALVE W/125T 33.72 200BV 1 1/4 100 MSH.STNR.W/B 141.06
126T 1 ANGLE VALVE W/125TD 49.18 200BV1 1/2 24 MESH STRAINER 177.88
126T 1 1/4 ANGLE VALVE W/125 74.60 200BV 1-1/2 50 MESH STRAIN.W 177.88
126T 1 1/2 ANGLE VALVE W/125 104.38 200BV 1 1/2 100 MSH.STNR.W/3 177.88
126T 2 ANGLE VALVE W/125TD 136.14 200BV 2 24 MESH STRAINER W/B 265.70
126MM 1/4 MM ANGLE VALVE 20.70 200BV 2 50 MESH STNR W/3/4 B 265.70
126MM 3/8 MM ANGLE VALVE 25.72 200BV 2"100 MSH.STNR.W/3/4 B 265.70
126MM  1/2 MM ANGLE VALVE 25.72 200WBP1/4 24 MESH STNR BR PL 26.40
126MM 3/4 MM ANGLE VALVE 33.50 200WBP1/4 50 MESH STNR BR PL 26.40
126MM 1 MM ANGLE VALVE 45.38 200WBP1/4 100 MESH STNR BR P 26.40
126MM 1 1/4 ANGLE VALVE 72.96 200 WBP 3/8 24 MESH STR BR P 26.74
126MM 1 1/2 ANGLE VALVE 106.46 200WBP3/8 50 MESH STR BRS P 26.74
126MM 2 MM ANGLE VALVE 125.22 200 WBP 3/8 100 MESH STR BRS 26.74
198 1/4" STR VALVE (50 MESH) 22.02 200WBP1/2 24 MESH STNR BRS P 27.30
200   1/4 24 MESH STNR STL P 24.36 200WBP1/2 50 MESH STNR BRS P 27.30
200   1/4 50 MESH STNR STL P 24.36 200WBP1/2 100 MESH STNR BR P 27.30
200   1/4 100 MESH STR STL P 24.36 200WBP3/4 24 MESH STNR BR PL 41.00
200   3/8 24 MESH STNR STL P 24.72 200 WBP 3/4 50 MESH STR STL 41.00
200  3/8 50 MESH STNR STL P 24.72 200WBP3/4 100 MESH STR BR PL 41.00
200  3/8 100 MESH STR STL P 24.72 200WBP 1 24 MESH STNR W/BP 67.98
200   1/2 24 MESH STNR STL P 24.94 200 WBP 1 50 MESH STR W/BP 67.98
200   1/2 50 MESH STNR STL P 24.94 200 WBP 1 100 MESH STNR W/BP 67.98
200   1/2 100 MESH STNR ST P 24.94 200WBP 1 1/4 24 STRAINER W/B 110.70
200   3/4 24 MESH STNR STL P 38.06 200 WBP 11/4 50 MESH ST RB P 110.70
200 3/4 50 MESH STR STL PG 38.06 200 WBP 11/4 100 MESH ST BR 110.70
200   3/4 100 MESH STR STL P 38.06 200WBP 1 1/2 24 MESH STNR/BP 148.26
200   1 24 MESH STNR STL PLU 63.46 200 WBP 11/2 50 MESH ST BR P 148.26
200 1 50 MESH STNR STL PL 63.46 200 WBP 11/2 100 MESH ST BR 148.26
200 1 100 MESH STR STL PL 63.46 200 WBP 2 24 MESH STNR/BP 243.88
200   1 1/4 24 MESH STR ST P 106.30 200 WBP 2 50 MESH ST BR PL 243.88
200 11/4 50 MESH STNR STL PL 106.30 200 WBP 2 100 MESH ST BR PL 243.88
200 11/4 100 MESH STR STL PL 106.30 200WSC1/4 24 MESH STNR SLD C 23.84
200   1 1/2 24 MESH STR ST P 144.54 200WSC1/4 50 MESH STNR SLD C 23.84
200 11/2 50 MESH STNR ST PL 144.54 200WSC1/4 100 MESH STR SLD C 23.84
200 11/2 100 MESH STR STL PL 144.54 200WSC 3/8 24 MESH ST SLD CA 24.00
200   2 24 MESH STNR STL PLG 238.90 200WSC 3/8 50 MESH ST SLD CA 24.00
200 2 50 MESH STNR STL PL 238.90 200WSC3/8 100 MESH STR SLD C 24.00
200 2 100 MESH STR STL PL 238.90 200WSC1/2 24 MESH STNR SLD C 24.38
200BV 1/4 24 MESH STRAINER W 46.42 200WSC1/2 50 MESH STNR SLD C 24.38
200BV 1/4 50 MSH.STNR. W/3/8 46.42 200WSC1/2 100 MESH STR SLD C 24.38
200BV 1/4 100 MESH STR W/3/8 46.42 200WSC3/4 24 MESH STNR SLD C 38.06
200BV 3/8 24 MESH STRAINER W 46.42 200 WSC 3/4 50 MESH STNR SLD 38.06

Page 4



DESCRIPTION DESCRIPTION

200WSC3/4 100 MESH STR SLD C 38.06 901   1 1/4 100LB SAFETY VAL 406.40
225J  3/4 SEAT RING 18.30 901   1 1/4 125LB SAFETY VAL 406.40
225J 1SEAT RING 22.04 901   1 1/4 150 SAFETY VALVE 406.40
225J  1 1/4 SEAT RING 25.58 901   1 1/2 100 SAFETY VALVE 487.98
225J 2SEAT RING 36.52 901   1 1/2 125LB SAFETY VAL 487.98
225N  3/4 SEAT TOOL 95.74 901   1 1/2 150 SAFETY VALVE 487.98
225N 1SEAT TOOL 107.02 901 2 100 LB SAFETY VALVE 725.40
225N  1 1/4 SEAT TOOL 107.02 901 2 125 LB SAFETY VALVE 725.40
225N  1 1/2 SEAT TOOL 127.16 901 2 150# SAFETY VALVE 725.40
226UT 1" "Y" VALVE 206.90 905 1/2 UPPER FIXTURE LONG S 22.98
226UT 1 1/4" "Y" VALVE 257.30 905S 1/2 UPPER FIXTURE LONG 25.92
226UT 1 1/2" "Y" VALVE 335.60 905A 1/2 UPPER FIXTURE SHORT 22.18
226UT 2" "Y" VALVE 479.86 905AS 1/2 UPPER FIXTURE SHOR 25.60
325U  1" "Y" VALVE 337.34 905L  GLASS WASHER NUT 5.58
325U  1 1/4" "Y" VALVE 443.98 905M  STEEL WASHER CHROMATE 0.78
325U  1 1/2" "Y" VALVE 473.30 907 RUBBER WASHERS FOR GLASS 0.44
325U  2" "Y" VALVE 760.50 907VT GAUGE GLASS WASHER VIT 3.22
350T 1/2" MSS SPR SHK VALVE 76.24 908      SHORT GLASS ROD /SE 3.86
350T 3/4" MSS SPR CHK VALVE 96.86 909V 1/8 DRAIN COCK W/VIBRA- 3.82
350T 1" MSS SPR. CHK. VALVE 162.28 906C 9 HI-PRESS.GLASS/DZ 92.04
350T 1 1/4 MSS SPR. CHK. VAL 208.66 906C 9 1/4 HI-PRESS GLS/DZ 94.60
350T 1 1/2 MSS SPR.CHK VALVE 301.10 906C 9 1/2 HI-PRES.GLS/D 94.60
350T 2 MSS SPR CHK VALVE 442.72 906C10 HI-PRESS.GLASS/DZ 92.04
350TLS 1/2 MSS CHK VAL L/SPR 76.24 906C 10 1/4HI-PRESS.GL D 115.90
350TLS 3/4 MSS CHK VAL L/SPR 96.86 906C 10 1/2 HI-PRES.GL D 115.90
350TLS 1" MSS CHK VAL L/SPR 162.28 906C11 HI-PRESS.GLASS/DZ 112.74
350TLS 1 1/4 MSS CHK VAL L/S 208.66 906C 11 1/2HI-PRESS.GL D 115.90
350TLS 1 1/2 MSS CHK. VAL L/ 301.10 906C12"HI-PRESS.GLS.DOZ 126.42
350TLS 2 MSS CHK VAL L/SPR 442.72 906C 14 HI-PRESS.GL/DZ 126.42
381T 1/2" MSS GLOBE VALVE W/ 72.80 910 UPPER EXPANSION FIXTURE 20.00
381T 3/4" MSS GLOBE VAL W/TE 108.46 911   LOWER EXPANSION FIXTUR 24.00
381T 1" MSS GLOBE VALVE W/TE 150.72 946 1/2 LOWER FIXTURE LONG S 25.38
381T 1 1/4" MSS GLOBE VAL. W 263.62 946S 1/2 LOWER FIXTURE LONG 30.40
381T 1 1/2 MSS GLOBE VAL W/T 344.26 946A 1/2 LOWER FIXTURE SHORT 24.72
381T 2 MSS CLOBE VAL W/TEF 416.36 946AXF 1/2 LOWER FIXTURE SHO 25.60
425 1" KNIFE GATE VALVE 450.00 946AS 1/2 LOWER FIXTURE SHOR 30.04
425 1 1/4" KNIFE GATE 510.00 34010 SHORT SHANK SET W/PLAS 61.56
425 1 1/2" KNIFE GATE VALVE 598.00 34011 LONG SHANK SET W/BALL 74.04
425 2" KNIFE GATE VALVE 796.00 34012 SHORT SHANK SET W/BALL 76.42
842   CONTAINER TEFLON TAPE 5.86 34013 GAG.SET LONG L/BALL CK 94.72
843   CONTAINER TEF TAPE 3/4 8.06 34014 LONG SHANK SET W/BALL 61.62
849   1/2 50 LB TRAP 75.74 34014PW LG.SHK.SET W/BALL CK 72.84
849A  3/4 125 LB TRAP 86.20 34015 SHORT SHANK SET W/BALL 60.48
849B  3/4 50 LB TRAP 86.20 34015PW SHT.SK.SET W/B.CK.W/ 75.04
850   1/2 125 LB TRAP 75.74 34017 LONG SHANK SET 50.20
850AL COVER ASSEMBLY 50LB 63.04 34018 SHORT SHANK SET 48.54
850CN TRAP GASKET (NEW) 3.42 34019 EXPANSION FIXTURE/SET 48.58
850F  COVER ASSEMBLY 125 LB 63.04 34020 1/2 GA.ASM/SET/L.SHNK/ 67.16
850M  STRAINER PLUG ASSEMBLY 15.72 34021 1/2 GAUGE ASSEMBLY SET 50.88
901   3/4 100 SAFETY VALVE 275.04 34031 SHORT SHANK SET W/BALL 76.58
901   3/4 125 SAFETY VALVE 275.04 34032 LONG SHANK SET W/BALL 77.82
901   3/4  150LB SAFETY VALV 275.04 34033 GAGE ASSEM.SET 43.38
901 1 100LB SAFETY VALVE 329.20 34035 GAUGE ASSM.SETW/BAL/L/ 49.80
901 1 125 LB SAFETY VALVE 329.20 34036 GA.ASM.SET W/BALL/946F 91.58
901 1 SAFETY VALVE 150LB 329.20 34038 GAGE ASM SET W/80 MXF/ 97.90

Page 5



DESCRIPTION DESCRIPTION

915A31 1/4 AIR REDUCING VALV 69.68 1012  1/2 DIA/AIR 32.98
915A31S 1/4 AIR REDUCING VAL 77.94 1012  3/4 DIA/AIR 43.40
915A31 3/8 AIR REDUCING VALV 69.68 1012  1 DIA/AIR 47.90
915A31S 3/8 AIR REDUCING VAL 77.94 1012  1 1/4   1 1/2 DIA/AIR 106.16
966L 1/2 LONG SHANK TRICOCK 20.88 1012  2 DIA/AIR 148.08
966P 1/2 SHORT SHANK TRICOCK 20.42 1013  1/4 DIA GASK 12.36
971   1/4 PETCOCK 15.28 1013  3/8 DIA GASK 12.92
971A  1/8 PETCOCK M X F 15.28 1013  1/2 DIA GASK 13.34
972AI SYPHON IRON ANGLE 10.22 1013  3/4 DIA GASK 14.44
972B  SYPHON BRASS 18.22 1013  1 DIA GASK 16.44
972I  SYPHON IRON 10.00 1013  1 1/4   1 1/2 DIA GASK 18.16
973   SHUT OFF VALVE 18.80 1013  2 DIA GASK 22.92
974   2 1/2 0 60 GAGE 22.38 1016  1/4 PIST/CYL 142.80
974   2 1/2 0 100 GAGE 22.38 1016  3/8 PIST/CYL 163.98
974   2 1/2 0 160 GAGE 22.38 1016  1/2   3/4 PIST/CYL 190.62
974   2 1/2 0 200 GAGE 22.38 1016  1 PIST/CYL 305.76
974   3 1/2 0 160  GUAGE 38.44 1016  1 1/4  PIST/CYL 343.14
974   3 1/2 0 200 GAGE 38.44 1016  1 1/2  PIST/CYL 410.90
974   3 1/2 0 300 GAGE 40.44 1016  2 PIST/CYL 691.48
974B  2 1/2 BACK CONNECT GAG 28.74 1017  1/4   3/8 STRAINER 19.32
1001    1/2 0 45 ST RED VA 224.50 1017  1/2   3/4 STRAINER 23.08
1001    1/2 20 150 ST RED VA 224.50 1017  1 STRAINER 31.04
1001K   1/2 INSTALLATION KIT 50.40 1017  1 1/4   1 1/2 STRAINER 35.28
1001    3/4 0 45 ST RED VA 268.10 1017  2 STRAINER 74.02
1001    3/4 20 150 ST RED VA 268.10 1018  1/4   3/8 PLUG GASK 9.78
1001K   3/4 INSTALLATION KIT 51.96 1018  1/2   3/4 PLUG GASK 12.38
1001    1    0 45 ST RED VA 349.26 1018  1 TO 1 1/2 PLUG GASK 18.64
1001    1   20 150 ST RED VA 349.26 1018  2 PLUG GASK 30.36
1001K   1   INSTALLATION KIT 54.12 1019  1/4   0 45  PR SP 13.32
1001  1 1/4  0 45 ST RED VA 504.22 1019  1/4 20 150 PR SP 13.32
1001  1 1/4 20 150 ST RED VA 504.22 1019  3/8 0-45 PRESSURE SPRI 14.18
1001K 1 1/4 INSTALLATION KIT 65.46 1019  1/2 0 45 PR SP 17.74
1001  1 1/2  0 45 ST RED VA 560.30 1019 3/4 0-45 PR SPRING 19.82
1001  1 1/2 20 150 ST RED VA 560.30 1019  1/2   3/4 20 150 PR SP 19.32
1001K 1 1/2 INSTALLATION KIT 66.34 1019  1  0 45 PR SP 40.26
1001  2      0 45 ST RED VA 825.30 1019  1 1/4  1 1/2 0 45 PR S 40.26
1001  2     20 150 ST RED VA 825.30 1019  1 TO 1 1/2 20 150 PR S 40.26
1001K 2     INSTALLATION KIT 76.78 1019  2   0 45 PR SP 191.90
1010  1/4    5 120 AIR/WATER 200.92 1019  2   5 120 PR SP 191.90
1010  3/8    5 120 AIR/WATER 231.26 1020  1/2  5 120 PR SP 14.18
1010  1/2    5 120 AIR WATER 251.54 1021  1/4   3/8 PISTON SP 11.28
1010  3/4    5 120 AIR/WATER 300.46 1021  1/2 TO 1 PISTON SP 15.30
1010  1      5 120 AIR/WATER 391.46 1021  1 1/4  1 1/2 PISTON SP 33.74
1010  1 1/4  5 120 AIR WATER 543.46 RS45  4 X 5 FLOAT BALL 60.12
1010  1 1/2  5 120 AIR/WATER 604.08 RS50  5 FLOAT BALL 60.12
1010  2      5 120 AIR/WATER 897.56 3050  1/2 FLOAT VALVE 40.06
1011  1/4 DIA/STM 62.92 3050FU 1/2 FULTON FLOAT VAL 40.06
1011  3/8 DIA/STM 83.90 3059  FLOAT BALL ROD 8.12
1011  1/2 DIA/STM/3 PER SET 95.28 3060  3/4 FLOAT VALVE 45.22
1011  3/4 DIA/STM 129.64 3060FU 3/4 FULTON FLOAT VAL 45.22
1011  1 DIA/STM 190.62 3200  1/8 X 1/8 FL FITTING 1.40
1011  1 1/4   1 1/2 DIA/STM 245.56 3201  3/16 X 1/8 FL FITTING 1.36
1011  2 DIA/STM 343.14 3203  1/4 X 1/8 FL FITTING 1.12
1012  1/4 DIA/AIR 17.02 3204  1/4 X 1/4 FL FITTING 1.38
1012  3/8 DIA/AIR 28.96 3205  1/4 X 3/8 FL FITTING 2.58

Page 6



DESCRIPTION DESCRIPTION

3206  1/4 X 1/2 FL FITTING 4.62 3285  1/2 FL 3 WAY TEE 8.72
3208  5/16 X 1/4 FL FITTING 1.86 3286  5/8 FL 3 WAY TEE 13.76
3209  5/16 X 3/8 FL FITTING 3.50 3290  FLARE UNION 1/8 1.98
3210  5/16 X 1/2 FL FITTING 13.18 3291  FLARE UNION 3/16 1.68
3211  3/8 X 1/8 FL FITTING 2.20 3292  FLARE UNION 1/4 1.18
3212  3/8 X 1/4 FL FITTING 1.98 3293  FLARE UNION 5/16 1.98
3213  3/8 X 3/8 FL FITTING 2.08 3294  FLARE UNION 3/8 2.46
3214  3/8 X 1/2 FL FITTING 3.16 3295  FLARE UNION 1/2 3.42
3215  3/8 X 3/4 FL FITTING 5.82 3296  FLARE UNION 5/8 4.98
3219  1/2 X 1/4 FL FITTING 3.18 3300  1/8 X 1/8 COMP FITTING 1.96
3220  1/2 X 3/8 FL FITTING 2.54 3301  3/16 X 1/8 COMP FITTIN 1.98
3221  1/2 X 1/2 FL FITTING 3.78 3302  3/16 X 1/4 COMP FITTIN 2.40
3222  1/2 X 3/4 FL FITTING 5.82 3303  1/4 X 1/8 COMP FITTING 1.64
3225  5/8 X 1/2 FL FITTING 3.56 3304  1/4 X 1/4 COMP FITTING 1.88
3226  5/8 X 3/4 FL FITTING 5.82 3305  1/4 X 3/8 COMP FITTING 3.12
3230  3/4 X 1/2 FL FITTING 9.66 3306  1/4 X 1/2 COMP FITTING 5.72
3231  3/4 X 3/4 FL FITTING 9.66 3307  5/16 X 1/8 COMP FITTIN 1.86
3235  1 X 3/4 FLARE FITTING 20.74 3308  5/16 X 1/4 COMP FITTIN 2.36
3236  1 X 1 FLARE FITTING 22.52 3309  5/16 X 3/8 COMP FITTIN 4.42
3238  1/8 FLARE NUT 1.02 3310  5/16 X 1/2 COMP FITTIN 6.94
3239  3/16 FLARE NUT 0.78 3311  3/8 X 1/8 COMP FITTING 3.58
3240  1/4 FLARE NUT 1.02 3312  3/8 X 1/4 COMP FITTING 2.36
3241  5/16 FLARE NUT 1.12 3313  3/8 X 3/8 COMP FITTING 2.54
3242  3/8 FLARE NUT 1.50 3314  3/8 X 1/2 COMP FITTING 3.30
3243  1/2 FLARE NUT 2.14 3320  1/2 X 1/4 COMP FITTING 4.70
3244  5/8 FLARE NUT 3.24 3321  1/2 X 3/8 COMP FITTING 3.50
3245  3/4 FLARE NUT 8.82 3322  1/2 X 1/2 COMP FITTING 4.42
3248  1/8 X 1/8 FL ELBOW 5.16 3323  1/2 X 3/4 COMP FITTING 7.60
3249  3/16 X 1/8 FL ELBOW 2.54 3324  5/8 X 3/8 COMP FITTING 4.42
3251  1/4 X 1/8 FL ELBOW 2.58 3325  5/8 X 1/2 COMP FITTING 4.36
3252  1/4 X 1/4 FL ELBOW 3.30 3326  5/8 X 3/4 COMP FITTING 7.30
3253  1/4 X 3/8 FL ELBOW 4.42 3327  3/4 X 1/2 COMP FITTING 11.42
3254  1/4 X 1/2 FL ELBOW 6.92 3328  3/4 X 3/4 COMP FITTING 11.42
3255  5/16 X 1/8 FL ELBOW 3.40 3330  7/8 X 3/4 COMP FITTING 12.04
3256  5/16 X 1/4 FL ELBOW 3.42 3332  1/8 NUT COMPRESSION 0.46
3257  5/16 X 3/8 FL ELBOW 4.88 3333  3/16 NUT COMPRESSION 0.44
3258  3/8 X 1/8 FL ELBOW 4.24 3334  1/4 NUT COMPRESSION 0.78
3259  3/8 X 1/4 FL ELBOW 4.28 3335  5/16 NUT COMPRESSION 0.78
3260  3/8 X 3/8 FL ELBOW 4.14 3336  3/8 NUT COMPRESSION 0.84
3261  3/8 X 1/2 FL ELBOW 6.82 3337  7/16 NUT COMPRESSION 1.50
3262  3/8 X 3/4 FL ELBOW 9.82 3338  1/2 NUT COMPRESSION 1.18
3264  1/2 X 1/4 FL ELBOW 7.62 3339  5/8 NUT COMPRESSION 1.40
3265  1/2 X 3/8 FL ELBOW 6.02 3340  3/4 NUT COMPRESSION 3.42
3266  1/2 X 1/2 FL ELBOW 7.06 3342  1/8 SLEEVE COMPRESSION 0.36
3267  1/2 X 3/4 FL ELBOW 11.10 3343  3/16 SLEEVE COMPRESSIO 0.36
3269  5/8 X 3/8 FL ELBOW 8.54 3344  1/4 SLEEVE COMPRESSION 0.36
3270  5/8 X 1/2 FL ELBOW 8.68 3345  5/16 SLEEVE COMPRESSIO 0.36
3271  5/8 X 3/4 FL ELBOW 12.74 3346  3/8 SLEEVE COMPRESSION 0.36
3274  3/4 X 1/2 FL ELBOW 14.20 3347  7/16 SLEEVE COMPRESSIO 0.44
3275  3/4 X 3/4 FL ELBOW 17.38 3348  1/2 SLEEVE COMPRESSION 0.84
3278  1 X 3/4 FLARE ELBOW 26.74 3349  5/8 SLEEVE COMPRESSION 0.84
3280  1/8 FL 3 WAY TEE 8.74 3350  3/4 SLEEVE COMPRESSION 1.40
3281  3/16 FL 3 WAY TEE 5.44 3351  7/8 SLEEVE COMPRESSION 1.98
3282  1/4 FL 3 WAY TEE 4.44 3352  1/8 X 1/8 COMP ELBOW 3.82
3284  3/8 FL 3 WAY TEE 5.44 3353  3/16 X 1/8 COMP ELBOW 3.82

Page 7



DESCRIPTION DESCRIPTION

3355  1/4 X 1/8 COMP ELBOW 2.88
3356  1/4 X 1/4 COMP ELBOW 3.54
3357  1/4 X 3/8 COMP ELBOW 5.02
3358  5/16 X 1/8 COMP ELBOW 4.24
3359  5/16 X 1/4 COMP ELBOW 4.58
3360  5/16 X 3/8 COMP ELBOW 6.26
3363  3/8 X 1/4 COMP ELBOW 3.96
3364  3/8 X 3/8 COMP ELBOW 5.48
3365  3/8 X 1/2 COMP ELBOW 6.80
3368  1/2 X 1/4 COMP ELBOW 7.02
3369  1/2 X 3/8 COMP ELBOW 7.38
3370  1/2 X 1/2 COMP ELBOW 8.40
3371  1/2 X 3/4 COMP ELBOW 13.72
3372  5/8 X 3/8 COMP ELBOW 8.60
3373  5/8 X 1/2 COMP ELBOW 10.10
3374  5/8 X 3/4 COMP ELBOW 13.24
3377  3/4 X 3/4 COMP ELBOW 19.74
3378  1/8 UNION COMPRESSION 2.14
3379  3/16 UNION COMPRESSION 2.14
3380  1/4 UNION COMPRESSION 2.22
3381  5/16 UNION COMPRESSION 2.58
3382  3/8 UNION COMPRESSION 3.18
3384  1/2 UNION COMPRESSION 5.24
3385  5/8 UNION COMPRESSION 6.60
3386  3/4 UNION COMPRESSION 15.70
3387  7/8 UNION COMPRESSION 16.74
3389  3/16 COMP 3 WAY TEE 6.26
3390  1/4 COMP 3 WAY TEE 5.48
3391  5/16 COMP 3 WAY TEE 7.48
3392  3/8 COMP 3 WAY TEE 7.02
3394  1/2 COMP 3 WAY TEE 12.18
3395  5/8 COMP 3 WAY TEE 15.94

Page 8



 

TERMS AND CONDITIONS OF SALE 
 
1. United Brass Works, Inc. agrees to sell products 

pursuant to its standard terms and conditions, unless it 
agrees to other terms in writing signed by both parties.  
The printed provisions on the reverse of any customer 
Purchase Order or on any other form supplied 
unilaterally by any customer shall be deemed rejected 
by United Brass Works, Inc. and shall be void and of no 
effect. 

 
2. Where shown, valves will be shipped in multiples of 

packaged quantities. Order quantities will be changed to 
coincide with multiples of packaged quantities. 

 
3. All prices are listed net, FOB, Randleman, North 

Carolina with freight allowed in Bronze and/or Iron 
Valves of 750 lbs. or more to all points in the U.S. 
(excluding Alaska and Hawaii) and to the nearest port of 
embarkation for foreign shipments (including Alaska and 
Hawaii), on all orders and back orders United Brass’ 
responsibility terminates upon receipt of a bill of lading 
by the carrier. 

 
4. Minimum merchandise invoice amount shall be $25.00 

per order.  All orders received for merchandise that 
totals to less than $25.00 shall be invoiced at the 
minimum charge. 

 
5. Prices are subject to change without notice and orders 

will be invoiced at price in effect at time of shipment. 
 
6. Terms are thirty days net, provided credit is approved. 

Where no credit information is available, shipments will 
be made COD or sight draft Charge accounts are 
extended to businesses, institutions, and organizations 
only, not to individuals.  To qualify for open account 
privileges, an account must be rated satisfactory in Dun 
& Bradstreet or supply names of three commercial 
vendors who have extended credit.  Allow four weeks to 
establish account when references other than a 
satisfactory Dun & Bradstreet rating are furnished. 

 
7. No material shall be accepted for credit or replacement 

without prior return authorization being obtained and an 
RMA number being issued for the material.  All 
materials must be returned prepaid. 

 
8. This warranty gives you specific legal rights, and you 

may also have other rights which vary from state to 
state.  During the first ninety (90) days after date of 
delivery of this product to the original purchaser. United 
Brass Works, Inc., will remedy any defect or malfunction 
found therein.  However, the original purchaser shall be 
responsible for all  labor costs.   United Brass Works, 
Inc., extends this limited 90-Day Warranty to the original 
purchaser of this product only, and not to any 
subsequent transferees. 

 
This warranty does not apply to conditions resulting 
from improper installation, inadequate maintenance, 
misuse, abuse, accident or alteration. This is the only 
warranty applicable to products manufactured by United 
Brass Works, Inc., and the Company neither assumes 
nor authorizes anyone to assume for it any other 
obligation or liability in connection with such products. 

ANY IMPLIED WARRANTIES OR MERCHANT-
ABILITY OR FITNESS FOR A PARTICULAR 
PURPOSE SHALL BE LIMITED INDURATION TO THE 
PERIOD OF THE ABOVE 90-DAY WARRANTY.  
SOME STATES DO NOT ALLOW LIMITATIONS ON 
HOW LONG AN IMPLIED WARRANTY LASTS, SO 
THE ABOVE LIMITATION MAY NOT APPLY TO YOU. 

 
UNITED BRASS WORKS, INC., SHALL NOT BE 
LIABLE FOR COMMERCIAL CONSEQUENTIAL 
DAMAGES SUCH AS PROPERTY DAMAGES AND 
INCIDENTAL EXPENSES RESULTING FROM 
BREACH OF THIS WARRANTY.  SOME STATES DO 
NOT ALLOW THE EXCLUSION OR LIMITATION OF 
INCIDENTAL OR CONSEQUENTIAL DAMAGES, SO 
THE ABOVE LIMITATION OR EXCLUSION MAY NOT 
APPLY TO YOU. 

 
9. All United Brass merchandise may be returned for credit 

if unused and in new condition after receipt of prior 
authorization within 60 days of purchase. Merchandise 
will not be accepted for return beyond 60 days after 
purchase.  (This does not apply to defective 
merchandise.)  A 15% restocking charge will be levied 
unless United Brass Works was in error.  Please call 
for Return Material Authorization number before 
returning merchandise. 

 
10. There will be a 15% surcharge on all merchandise drop 

shipped unless the invoice amount exceeds $50.00. 
 
11. All claims for short shipments must be made within 10 

days of receipt of material. Claims made after 10 days 
of receipt will not be honored. 

 
12. United Brass Works, Inc., reserves the right to ship 

orders by means we deem most expedient and least 
expensive unless your order contains specific 
instructions and provided these instructions do not entail 
additional expense for the company. 

 
13. All cancellations must be in writing and any expense 

incurred processing your order prior to the cancellation 
shall be invoiced to you. 

 
14. All telephone and telegraph orders must be confirmed 

in writing. 
 
15. All orders taken by salesmen are subject to approval 

by home office. 
 
16. United Brass Works, Inc., reserves the right to make 

partial shipment if such is necessary, unless order has 
specific instruction to the contrary. 

 
17. All delivery dates are approximate and United Brass 

Works, Inc., is not responsible for failure to meet dates 
specified. 




